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@\ Aoraiers Conanneny:

A popular question in which candidates were asked to explain the underlying
definition of slenderness for beams and columns according to the Eurocode practice,
making reference to its simplicity and ubiquity in design, before determining whether a
certain loaded beam would be safe. The main errors were: not giving a full explanation
of the slenderness methodology; stating the right choice of buckling curve but reading
from the wrong one; and specifying “D” incorrectly in the calculation of the critical
moment.
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B2 Grouninass CONRREnV:

Another popular question in which candidates were asked to construct the
interaction diagram between axial force and major axes bending moment for a beam
under plastic and elastic considerations. The main etrors were: numerical
miscalculations; improper sketching of the interaction graphs.
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Candidates were asked to determine the adequacy of a plate girder section for a
specified set of loads. The main errors were: about half of the candidates did not
correctly calculate the normal stresses due to bending and axial compression, despite
being given the bending moment distribution; miscalculation of  for the T-section;
ignoring the shear stresses in the stability calculation; misreading the appropriate
knockdown curve. Not a very popular question.
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A regular question answered very well by most of the candidates. The main
errors were: failing to check for compactness of the supporting steel section; not
understanding fully the trough spacing requirements; an incorrect choice of transformed
section (by using the elastic depth from earlier rather than simply ignoring the trough
region).
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